10

15

65

48.5%

65

41

65

15




20

945,504

40-49
134,767 30-39

14.3% 181,535
19.2%

—4—15 ——16-24 ——15 ——16-24 25-29
30-39 —*—40-49 300,000 30-39 —*—140-49 —o—50-59
L—cea ——65 ——o60-64 —s5
3000 //\_—-\,_/\ /l\.\_
250,000
200,000 \
2,000 —\\
150,000
65
:\/\"\0—‘\'/&-\ 100,000 Y
1,000
15
50,000 ———
M
_ PSR R S S S S S S S S S
H9 HI0 HIl HI2 H13 H14 HI5 H16 HI7 HI8 H19 H20 H5 H6 H7 H8 HO HIO HI1 HI2 HI3 Hl4 HI5 HI6 HI7 HI8 HI9 H20
——15 ——16-24 ——15 —®—16-24
30-39 —%—40-49 30-39 —%—40-49 —o—50-59
——60-64 —65 2,000
65
15.0
1,500
10.0
1,000
5.0
500

H10 H11 H12 H13 H14 H15 H16 H17 H18 H19 H20

H5 H6 H7 H8 H9 HIO H11 H12 H13 H14 H15 H16 H17 H18 H19 H20




65

10

15

15

10

10

10

65

10

43



10 10
ss—‘ - - ss—l —

._4/.\.\._._._’\“- 40,000
1,500
e
30,000 —
1,000
20,000
e N
500 = _
10,000 frgr——ai—
H5  He H10 H11 H12 H13 H14 HI5 HI6 H17 H18 H19 H20 H5 HE H7 H8 HI0 H11 H12 H13 H14 HI5 H16 H17 H18 HL9 H20
65 — - 65 —-—
10.0 1
—— —— —o—
150
7.5
100
5.0 \
H\’—)\;\!__\ 50
HS  H6 HI0 HI1 H12 H13 H14 HIS H16 H17 HI8 H19 H20 H5 H6 H7 H8 H13 H14 H15 H16 H17 H18 H19 H20
15 15
250 — - — - —
40,000
200 A
30,000 T
150 \
20,000
100 Ay \\«\ /\
/ ~
s 10,000
I SN P S U [ P
H5  H6 HI0 HIL HI2 H13 H14 HI5 H16 HL7 HI8 H19 H20 H5 H6 H7 H8 HI0 HI1 H12 HI3 H14 HI5 H16 H17 HI8 HL9 H20
15 15
1.00 — - — — ——
200
0.75 /./o——o\.\\
150 =
e
0.50 ~
100 \\‘
0.25
50
HS  H6 HI0 HI1l HI2 H13 H14 HI5 H16 H7 HI8 H19 H20 HS H6 H7 H8 HI0 H11 H12 HI3 H14 HI5S HI6 H17 HI8 H19 H20

44




65
8.9

65

2008

14.3

2001 4

202 b
2003 ]
2004 ]
2005 ]

1.
2006

L s

2007

2008

0%

10%

20%

30% 40% 50%

60% 70%

80% 90%

915

B16-19

020-24 25-34

u35.44

B4554  B55.64

B65-74 u75

35

30

25

20

15

[ ST =

:

o

2001

2002

2003 2004

2005 2006

2007

2008

—4—75

—k—35-44

——-65-74
—9—25-34

55-64
—+—20-24

45-54
—=—16-19

45

2001



HWMRER

=Y R =] :
A W il B Tt
i) A, (20, {3 Fa3, (5 [l T o DT BA L ABR
e - ERRO TR TITF) DR
: - - it FIABROTE - T
& - ;;1] h [ZEERAT iEEaNon DS ROEE]
% g T = PEYTF2U—k
ﬁ 1k I (1) = MERTEEHROREE] EWMNETLBNEMED
B i BE)
12 PEERey F7—2
L] VI (1) o (7)) PEEE DT T Tt A )
RizMT HERO N HEREA
IV il 7. 4 [RAEEE
BEOME - FROEL)
i
| =
i #
b ]
A L BB =i
O il A, (20, (3 F+#. (5) Flem- I 4 B FBALASRE
HM - RRDOABOEL) T oEEl
10 [PAREDRE - 8
LS EMoRR)
® 101 7 AR O S
& % mawoRdl
]
7 L0 = FSeiuF2u—ic
B & rs
FRALTLOEENRD
Bal
102 MRl v k=4
OEE AR Ll
- EEEET]
IV il 7. 4 [RAE®E
BEOME - BEOEE)
H
T ®
i [
F

46




15

3 33.4%

20

20

162,250
17.2%

20
945,504

153,036
16.2%

426,965
45.2%

65
15
10

47

7
48.9%

69.2%




15

20 20
15 16-24  25-29  30-39
55 25 20 58
3.2% 1.5% 1.2% 3.4%

20
71,267

——15 —8—16-24 25-29 ——15 —8—16-24 25-29
30-39 ——40-49 ——50-59 30,000 30-39 ——40-49 —e—50-59
——60-64 —65 ——60-64 —65
//\“——\ <
1,500
65
65
20,000
1,000 \/_/ \
. ./.\k*—‘g
10,000 > ~—
500 v\o
e —t— —
H5 H6 H7 H8 HO HI0 HI1 HI2 H13 Hl4 HI5 H16 H17 HI8 H19 H20
——15 ——16-24 25-29 ——15 ——16-24 25-29
10.0 30-39 —*—40-49 —®—50-59 10 30-39 —%—40-49 —8—50-59
——60-64 ——65 ——60-64 ——65
150
65
7.5
15
100
5.0 65 \
60-64 \ A,
2.5

H8 H9

H10 H11 H12 H13 H14 H15 H16 H17 H18 H19 H20

H8  H9

H10 H11 H12 H13 H14 H15 H16 H17 H18 H19 H20

48




4.33
1.22 3
10
60% 3,000
55% |
1 2,500
50% |
45%
1 2,000
40%
0% T o
H7 H8 H9 H10 H13 H14 H15 H16 H17 H18 H19 H20
20
- X100
3
BT L
A ] M R
I iar A, (21, (@ 7F-#F. (6 FDem- T11 A D P LASTY
- ERYOERamdl Tur) okl
[ s + resweoRaan Ti8l 4 [Omma
Bomdl
[ m (5 [ EDSD GEogal
%W
11 [IARRORS: -
% % LEAFEMORAL
IE
H il 100 % [EeiuT 20—k
e tHnsTISGEMED
] uaml
112 TRty F7—%
SEALNBIELERD
HMEL
]
Tl =
= B
F ]

49




50




17 2 N 2,105 20 2 N 1,000 20 4 N 1,000 21 1 N 4,758
2
— —
15 79 4,758
21 1
8 9
(n=4758)
0.0% 10.0% 20.0% 30.0% 40.0% 50.0% 60.0% 70.0% 80.0%




(n=3741)

0.0% 10.0% 20.0% 30.0% 40.0% 50.0% 60.0% 70.0% 80.0% 90.0% 100.0%

0% 10% 20% 30% 40% 50% 60% 0% 80% 90% 100%

(n=4758)

(n=4758) 0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

R \\\\\[
R N||||||||||||||||||||IIH%%-H%I|||||||||||||]|||||||||
NS

TTTTT
71.9%
1111

S\
N\ N I A
SANTRER R

52




@
Q
N
o
<
~
8
o SB CS
<
~
S
3
z
-
3
3
?
<
a8 a8 m

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
~ T T T 1
a
g ¢
o
<
o
g 2
o
<
>
& 3
bt
i
<
~
S 4 SB
b4
z
o
& 5 S8
S
W
<
a TTTT ]
S 6 B
S s 5.8%|4.3%|
£ 1111
a |
2 7 cs
&
X
>
& 8
b=}
T
<
a
R 9
=
m
<
= | |
@ TTTT
S 10 \ 31.4\\\N||n.e%|” 7.6% |
3 %\ 11l
= | |
a
™ 11 s TTT
S 26.4%\ NS.A 4.7%
\I:L 111
=~ | |
= 12 o TTTT
S 40.0%\ \N”HM.SMH" 12.3% |
£ o 11l

o

53




Mk Dok & 0

. WMAER
o =
x W B | el
Wil oA, (2. (3 T, 5 (e | [ 0w medorezmT iENEER0E
H - REPOERG R wAERONA
[ 5 rgnosm - seosa |
[ow » reasscnrorernnonnl | [ m o = riasEEassorK |
£ g | ——m———m—m——mmm—mee=e===-
& % [ + ranERszenmonL) | [ sz ranesss—nomeee |
B | g | & |[Tmexrsessass-iozemml | | FEaE [EAESOmSMRRACEIER
Rl I= gt SOEDEIL]
" [0 # rEEsEoRREL |
[ #mex MEwraasnsEomal | | WA [Nz R - IS l
il
i | M3 [TRBEERIZE S L Lk ‘ | FEAE [ITTOEEDL— ki - §E ‘ T
% ® M el AEEEBED
i % | VI (1 % (TARGAEEERECEE L AN | VI (3 4 [2EASarEwnnoom - BE | :J* - RROR

ORTEROTRFSORERREARGNA)

54




before-after

with-without
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

jan
o
N
Rl
i

N
Q
~
mn
o
i

N

] B8
16
16 81%
81% 81
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

(n=3502)

(=1231)

(n=3480)

(=1227)

55



0%

(n=3058)

(=1133)

0%

(=2317)

(+916)

0%

(n=3404)

(=1203)

0%

(=3265)

((=1173)

0%

(n=1897)

@71




0%

(=2880)

(r=1079)

0%

(n=1897)

(=757)

(@=z77)

(r=1206)

] = m
o% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
g 1l
§ 12.4%
< L1111
2 . Il
§ 18.8%)
© L111
I I I
a a m
o% 10% 20% 30% 0% 50% 60% 70% 80% 90% 100%
T T T T T T T T T 1
3.6%

g \ D \ m
: , " 1]
\\ m
\ N O 1111

57




8

4 IT
IT
IT
ITS
IT
IT
3 IT
IT

1

IT
2

IT
ITS
VICS
VICS

21 6 2,400

ITS

IT
20

58




AHS 19 5
5.8GHz DSRC
20
ASV 4 ASV 18 22
. WEEE
IT &M A O . e
Wil 7 4 Mease 103 =2 ITUT oz ‘
ABEOER BEOFA] AR TRAGAMTA
Anankal
5 i’.j::;;;;‘:’i:g 108 [EEEEREHLA
E Bal 7Ty E M
%
B | ﬁ [vm w7 o mReEEOEE) |
E VIIL £3) & (o) Pl et
—Fl— WD 16 iz
MY SERmEONL
| vin () (iR A REERD k) |
iH _ >
r (% TG
r % HRLAF i T QR

59




